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S R1HnER, BAEMHRAEE def sumOfN(n):
S| uwRitEE theSum = ©

for i in range(1, n + 1):
theSum = theSum + 1
return theSum
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print(sumOfN(10))
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e > BEBCEER, =aRREIEA?  def foo(tom):

A R AR 3 @A R A fred =0 " N
f wBRARMZRET: or > me;“:rzg‘{‘f ; tom + 1)
% « XE®L fred = fred + barney

J o TR B R KA return fred
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< RAG R TiEMFE print(foo(10))
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% At 4PythonRiE RS FIGait 2 1FRT?
E \i I h ‘n # > S -
g:lg T é] jk j]ﬁb%"%b&i%% 1 | static oSStatus
* 2 | SSLVerifySignedServerKeyExchange(SSLContext *ctx, bool isRsa, SSLBuffer signedPa
/@ 3 uint8_t *signature, UIntlé signaturelen)
-— — 4
) ERAFM—MERBug 1 e
T 6
\ \i > ~ > AD ~ \‘ 7
'% 3&}3&55'.&%%1&2&@&& 8 if ((err = SSLHashSHAl.update(&hashCtx, &serverRandom)) != 0)
9 goto fail;
% s 10 if = SSLHashSHA1l.update(&hashCtx, &si dpP =0
S 2014.2.22141£i0S7.0.6 - e Tasny o orenAL-update(Bhashct, Ssignedparans)) 1= ©)
> [ 12 | goto fail;
Q) 13 if ((err = SSLHashSHAl.final(&hashCtx, &hashout)) != @)
S ‘_,_ 14 goto fail;
N > *1%Ei*alz*¥ 15 err = sslRawVerify(ctx,
16 ctx->peerPubKey,
17 dataToSign, /* plaintext */
18 dataToSignLen, /* plaintext length */

> ﬁﬁ FE *¥ 19 signature,
20 signaturelLen);

1 if (.o ) 21 if(err) {
. 22 sslErrorLog("SSLDecodeSignedServerKeyExchange: sslRawVerify "
2 . return x; 23 "returned %d\n", (int)err);
3 if ( Pee e e ) 24 goto fail;
4 return y; - ¥
. 26
5 lf ( ] ) 27 'Fail:
-Foo( ) 3 28 SSLFreeBuffer(&signedHashes);
t . 29 SSLFreeBuffer(&hashCtx);
7 return Z, 30 return err;
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>>> help(time.time)
Help on built-in function time in module time:

i-l-%;'ﬁﬂg;ﬁﬁ time(...)

time() -> floating point number

aﬂzmyﬂi+§§§,§? Returr_l the current time in seconds sir_lce the Epoch.

Fractions of a second may be present if the systag
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>>> 1mport time
>>> time.time()
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import time

start = time.time()
theSum = 0
for i in range(1, n + 1):

1
2
3
4 def sumOfN2(n):
5
6
7
8 theSum = theSum + i

9 end = time.time()

10 return theSum, end - start

11

12

13 for i in range(5):

14 print("Sum is %d required %10.7f seconds"
15 % sum0fN2(10000))

Sum 1is 50005000 required 0.0007980 seconds
Sum is 50005000 required 0.0007021 seconds
Sum is 50005000 required ©0.0007031 seconds
Sum 1is 50005000 required 0.0007219 seconds
Sum 1is 50005000 required 0.0007060 seconds
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13 for i in range(5):
14 print("Sum is %d required %10.7f seconds" % sumOfN2(100000))'

Sum is 5000050000 required 0.0078530 seconds
Sum is 5000050000 required 0.0078511 seconds
Sum is 5000050000 required 0.0087960 seconds
Sum is 5000050000 required 0.0082700 seconds
Sum is 5000050000 required 0.0077040 seconds

 H—ZRNMNZ1,000,000?

1% 47 B 1) 17%169 90049104 T
13 for i in range(5).

14 print("Sum is %d required %10.7f seconds" % sum0fN2(1000000))

Sum is 500000500000 required ©.0817859 seconds
Sum is 500000500000 required ©0.0781529 seconds
Sum is 500000500000 required 0.0803380 seconds
Sum is 500000500000 required 0.0783160 seconds
Sum is 500000500000 required 0.0776238 seconds
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FRARHMAANEERTE 17 def sumOfN3(n):

ﬁ
E . .

| RAREOSASNETHE start = time. tine()

S 10,000; 100,000; 1,000,000 19 theSum = (n x (n + 1)) / 2
g T T e 20 end = time.time()

R 10,000,000; 100,000,000 21 return theSum, end - startk
% ,

3 o

) BEXINAS _

% XA H ok 0Y i3 AT 0 ) b AT AR AR 48 AR 2 Sum is 50005000 required 0.0000010 seconds

—

Sum is 5000050000 required ©.0000000 seconds
ZATRA S Bt Sntg k%A £ FZ (FT  Sum is 500000500000 required 0.0000010 seconds
. ST TU SN Sum is 50000005000000 required 0.0000000 seconds
MHEEREHERXE) ; oo TEqULre ‘

Sum 5000000050000000 required 0.0000169 seconds |
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éé v YHrSumOfNgiEaE=S =
- T TP 50 def sumOfN(n): r
- I 32 theSum = 0 Z

T(n)=1+(n+1)+n+1 33 for i in range(1, n + 1): | 7°

=2n+3 34 theSum = theSum + i
35 return theSum
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i f 1 g 2EXIK/9BAREEE N LRIFEL
(1) f(n)=0(g(n))
BIFEIEZICHIN fEFXI—HIn>n,F0<f(n)<cg(n)
(2) f(n)=«Ag(n))
BIFEIEEICHINfEE X —1tIn=nF0<cg(n)< f(n)
(3) f(n)=o(g(n))
X PR IE &8 c>01=1En fE 18X —1]In>n FF0<f(n)<cg(n)
(4) f(n)=a (g(n)).
X PR IE &8 c>01=1En fE 18I —1In=n B 0<cg(n)<f(n)
(5) f(n)=6(g(n)) < f(n)=0(g(n)) A f(n)=¢Ag(n))
(6) O(1)FRHEIEEL
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AOFxi% (Big-0)
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y - BllF: =5

y 1. x=x+1

y 2. for i in range(n):
x=x+1

y 3. for i in range(n):

for j in range (n):

x=x+1
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def anagramSolutionl(sl, s2):
alist = list(s2)
posl = 0@
stillOK = True
while posl < len(sl) and stillOK:
pos2 = 0
found = False 1ES2HZFRZENIIEL
while pos2 < len(alist) and not found:
if sl[posl] == alist[pos2]:
found = True

SHls2Z513E

TBIASTRIE 4T

else:
pos2 = pos2 + 1
if found: 3, 14
alist[pos2] = None
else: RIRE, K

stillOK = False
posl = posl + 1
return still0OK

print(anagramSolutionl('abcd', ‘'dcha‘))
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def anagramSolution2(sl, s2):

2 alistl = list(s1)

3 alist2 = list(s2)

4

5 alistl.sort() 7 AlERHER
6 alist2.sort()

7 pos = 0

8 matches = True

9 while pos < len(sl) and matches:
10 if alistl[pos] == alist2[pos]:
11 pos = pos + 1

12 else:

13 matches = False

14 return matches

15

16

17 print(anagramSolution2('abcde’, 'edcha'))
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print(anagramSolution4('apple’

TR -EEFES

def anagramSolution4(sl, s2):

cl = [0] x 26
c2 = [@] x 26
for i in range(len(sl)):
pos = ord(s1[i]) - ord('a")
cl[pos] = cl[pos] + 1
for i in range(len(s2)):
pos = ord(s2[i]) - ord('a")
c2[pos] = c2[pos] + 1
] =0
stillOK = True
while j < 26 and stillOK:
if cl[j] == c2[jl]:
]j=1+1
else:
stillOK = False
return stillOK
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 ITHEREZERE3INMERENR, (BARMEE1 I FEREREIR
MAANERR T FHE R R, REAKETFHE LKA

FINET A TR Brbik, BAEAKERZ26K

» FRLASHRIEIREIT(n)=2n+26, HHSHKHO(n), XR—IMHHHEFMNE ==
%, B ELAFIEERIERERIAY.

 (BERIEENE, PREXRMTAMIEN260ITHRRIIR, REFFFITE

, XIELLBIBANN RAEEEZSHEFHETE
BT T 2642 BM A, AEEHTRAANELARHE, LR EREaXTHE
HWAEH (b XAAEFRAFH) , WAREHHAE.

i ESERIRENEITE, skEtER, XH{ERIEZEEZERIEVSFIN
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NP, NP-Completefll NP-hard

> FrERREERa LARIR /9 F E6RE
%5 54 12/ 1 34 )
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NP-Hard

NP-Hard
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. PIEIEE: [DEEMRE, AUESIEHE
m ';3; P=NP=

. NPEEE: #8—AE, AUESEREER | ) |\ T
we = O

y NP-hardalgi: {EFERINPRER, EERILA
g Uika: O [T s [ R A EA [
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y BIEEEAENP y BIAINPClA)ER
- R, REApHXIRAR SAT
e A

y BIEEEAEP

BEHBE, L
B—APE Sk, HFRS DA R e

5 B L& )e] A (subgraph isomorphism)
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y ELRIBBBEAZNP-hard FHEKE ZA A (subset sum)
AE RC—ANPCFIRL, )3 252X AN - 4T B (clique problem)

Z

=/ & & £ P& (minimal vertex cover)
¥ 5% 4 F & (independent set)

¥ %|4% ¥ # (Dominating set)
A% & =& (Graph coloring)
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BER 10 20 30 40 50 60
n 1075 | 2*¥1075 | 3*107° | 4*107° | 5*107° 6*10~°
N2 10=4 | 4*107* | 9*10—4 | 16*10~4 | 25*10~* 36*10~*
n3 10=% | 8*1073 | 27*1073 | 64*1073 | 125*103 | 216*103
N5 10—! 3.2 24.3 1.7 4 5.2 4% 13.0 4%
on 001# | 108 | 1794 | 127 R | 3574 366
3n 059 %) | 584; | 654 |38551H4D | 210842 | 1.3*101 {4
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N N, 100 N, 1000 N,
N2 N, 10 N, 31.6 N,
n3 N, 4.64 N, 10 N,

no N, 25N, 3.98 N,
on N, N, + 6.64 N, + 9.97
3n N, N, + 4.19 N, + 6.29

AT KF i HEAFE/ X = 4/2023

37

Z



PythonZREFaR91%EE

» BIEEIITHRY "KOFETZE" MURNAREEA T

»  FEFITIE T PythonFH R EZRESIY L FHEERIXOLNELN
)& ListfFH#Dictionary
XRAMEZZYPythonKELEH, EARESAREINIMAHKIELEN
BB RAPRRARZLZEFREENESITHARER

A
§§
B
S
g
%
3
3>
Q
S
-

y XJEEListFIDictionary

_ xE | FE | AW | W EW  FE | RE | HE 7‘

list ETSeos el 25,‘3223 pop a[i]=v al[i] index(v) reverse
= : remove* a[i:j] count(v) sort
insert
: N RS _ _ b[k] has_key
dict (&K b[k]=v pop b[k]=v ey 7c e

AT KF i HEAFE/ X = 4/2023
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List&iR S

)

ListEREGSIEZTR(E (interface) BISEMBAEBRS, WAEEREE

IRFRSEIR T iA?

SHEEME, LRFAMRFIERRY, BEAXERRRE
80/20/E M| : 80%#Y 2hft H1E Hl & R A 20%

FAJRE—LEERRILIsUR(E

e R IBRESIBEFmE (v= alil, alil= v)
BT ERGMAT R 4FE, LANRERERTEFRSINERDEX, #HAH0(L)

SF—1MEFIGK, dlli#iFappend()#l _add ()
1st.append(v), HATHEAAZ0(1)

1st= 1st+ [v], #ATH B ZO0(n+k), HPkEHEMEGI| XK E

Lk oheAT R BT Rk, AR TAEFGEE

Z



AFRERBIN B EFIRATE

%ﬂé » B—MRERBENEERTIR (+) BNERK

% » AleEMappend()FiEERRIMITREERK

% y IHERYFRIESIV (List Comprehension)dﬁlzigsﬂ().

L REErangeRERMKRSI tor 1 range(1000)
S 1 =1+ [i]

def test2():
1 =[]
for 1 in range(1000):
1.append(i)

Z

. . def test3():
5”%}3&.%5& 1l =1[i for i in range(1000)]

def test4():
1 = list(range(1000))

A K F it AL R/ 2] = /2023
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{EAtimeitRIRXI R ZLTHY

 WFENMRHEBEIMTEE, timeitiEHIRE T —HE—HISTHIET

AJLARSRBF AT F
y timeititBIBYERRG X

ARANE—ANTimersd £, E2ANSEK, F—NRAEZRIBITNEY, FANRATE

i@’f‘?% m A £ %‘k'ﬂ“"/kéﬁ “‘i"%‘ln ,7 7

RERAMEIAIN FotimeitF ik, K P TRABR R EETS S K,

from timeit import Timer
t1l= Timer("testl1()", "from
print

¥ {5 &Y B i8]

t2= Timer("test2()", "from

print

t3= Timer("test3()", "from
print
t4= TlMEP( 'test4()", "from

print

AT KF i HEAFE/ X = 4/2023

__main__
"concat %f seconds\n"

__main__
"append %f seconds\n"

__main__
"comprehension %f seconds\n”

"list range %f seconds\n”

PG R B AR

import testl")
% tl.timeit(number= 1000)

import test2")
% t2.timeit(number= 1000)

import test3")
% t3.timeit(number= 1000)

import test4")
% t4.timeit(number= 1000)

maln




AT R BINNEEZIFIRAVG TR

y F(iIER, 4MAiRETHRIZEZIRX
7| k%4 (concat) %, List rangextk, & E 48 £ #2004,
append¥. &b concatriF %

%, #4551 R RS Xk K Aappend ik 6T

MRS s ‘

N LA, MRFESHT, FHERE, LAMER T BETIRIBEORE, X

S A IR ETRE BRIBIEITERA. >>> L

= A2 %) 7 IR 784K 69 B ) R O & concat 1.889487 seconds Z
TR R R £

b T R B A B append 0.091561 seconds
18] R 3 |8

comprehension ©.038418 seconds

list range ©0.009710 seconds

T K HEAFE R/ 2] = E/2023 <
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ListBFIEERIROELR

y BAISESEpop X MEE
pop( VA F| & KA L%, 0(1)
pop(i)AF|x ¥ 3HBHRTE, 0(n)

»  IRBE{EFPythonPiEERYSEIN 5%
MNP HRBRAENE, 2RSRAEER
MLE LA E 4 —i8
EAFEA KRR &K
e EmENEMNEEBNXMNERT LB
PRIEFD) & 45 % 5| AL Ao AL B BRAFAR B,
ik 2]0(1)

XH R At ARERTE AREY
WERFTE

AT KF i HEAFE/ X = 4/2023

Operation
index []
index assignment
append
pop()

pop(i)
insert(i,item)
del operator
iteration
contains (in)
get slice [x1y]
del slice

set slice
reverse
concatenate
sort

multiply

Big-O Efficiency

Z



list.popRYi Azt IS
y ATRIERPHRKOMNESR, FEIVCHAMBR TRIpopiR{EREFITHIRILL
, fAXE—NKDRIlist, 351RARApop()#lpop(0)

y HNARRXRMOlistifitaitis, FIHAERILSERE
pop( )8y EF B REElist KD E 4, pop(0)#yEtiE|fE & listE AR E K

MRS s ‘

D L.
S . s >>> x = list(range(2000000))
§ ’ E#&?"Z‘IJER‘:‘IIZB >>> popzero.timeit(number=1000)
= stFKE2H 767 ., #iT1ee0k 0.7688910461739789 _—
pop () B 6] £ 0. 00074 >>> X = list@r‘arjge(zaaaeea)) %
: g >>> popend.timeit(number=1000)
pop (@) I1.%0. 84 0.0007347123802041722

#a £ 10004

import timeit
popzero = timeit.Timer("x.pop(©)", "from _main__ import x")
popend = timeit.Timer("x.pop()", "from main_ import x")

AT KF i HEAFE/ X = 4/2023
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list.popRYi Azt IS

FeAihE PLZEFIRAIA DR XM ERIE KRS

import timeit

popzero = timeit.Timer("x.pop(©)", "from main_

import x")

popend = timeit.Timer("x.pop()", "from _ main_ import x")

print "pop(@)  pop()”

for i in range(1000000,100000001,1000000) :
= list(range(i))
pt = popend.timeit(number=1000)
= list(range(i))

pz = popzero.timeit(number=1000)

print "%15.5f, %15.5f" %(pz,pt)
. ___________________________________________________________________________________________________|

AT KF i HEAFE/ X = 4/2023

>>>
pop(9)

OOV ADNWNNROOO®

pop()

.23149,
.68661,
.43575,
.00506,
71711,
.32652,
.03600,
.56179,
17211,
.75793,
.28499,
.63129,

OO OO DO

.00078
.00020
.00045
.00027
.00032
.00030
.00032
.00026
.00034
.00025
.00028
.00033

Z



list.popAYitAdiztiE

DRSS

pop(@)m&‘iii%"%é@ﬁé%‘

N HHEEN R 2R ESH
FF T HAZME

TR & A F

A

N
!

A

Time (secs) To Execute pop Statement

E K FHEMF R/ 2] = %/2023

2001

1501

1007

501

£ J_J_!Ivli\‘.?ﬁﬁﬁl EEpkER, JLAEHIBKEE
pop();%%i‘?'éﬁ e o0

.
® pop(0)
L ]
A pop() o . o
[ . ..i
. ™
° LY
®
e
™ L]
o o°
L ' ]
® ..".
™
.
L ] ..'
¢ .
..
% .l.
e o
™
-"..
®
o**
MWW—I
20,000,000 40,000,000 60,000,000 90,000,000

List Size

\
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Dictionary#igsEts

» FHEJIIRAE, BHLMREXER (key) RIXFEREIR, MIIRERE

(B (index) EiEIEIEIR
y EHANRESN BTN ARSEING X
e HAJEN{Eget itemFIlf{Eset itemiB(E, Ei%gEHO(1)

» B—AERRERAITFHEAREFEFRANXED (key) |

0 (1 ) operation
) BUTERAER TS S o
set/get/contains -> 0O(n)
set item
JG & RAZ BB 5 I AR R AT delete itom

A RSB R/ 0 £ /2023 fteration

X EEERE

Big-O Efficiency

O(n)
O(1)
o(1)
o(1)
O(1)

O(n)

Z



List¥DictionaryfJini{EXILL

y IRTF—MEBEIERIIEList e E=E—/ME, LIMDictionary e E=E—/ME
ASLTAYRIEL
AR — NS EEMEYListhe— AN 05 4 X BKeytyDictionary
REAE RS, RAR—/FEHF in XAV,

import timeit
import random

g

TS

X

-

MRS

D

3
Q
3

N~

for 1 in range(10000,1000001,20000):

t = timeit.Timer("random.randrange(%d) in x"%i,
"from _main__ import random,x")

x = list(range(i))
lst time = t.timeit(number=1000)
X = {j:None for j in range(i)}
d time = t.timeit(number=1000)
print("%d,%10.3f,%10.3f" % (i, lst time, d_time))

Z

A K F it AL R/ 2] = /2023



List¥DictionaryfJini{EXILL

A WFHARITRESFEIEXNERX, E5H
) MFIRAIAITRIEINIBEE SRR I K L LFHAPython

;
-
gﬁ
3
IS
g
%
<
>
Q
S
N~

== : FLREERIEE . 10000, 9.062, 0.001
% PythonEH HIRESFERA: 30000, 9.189, 0.001
https://wiki.python.org/moin/TimeComplexity 50000, 9.329, 9.001
“ 70000, 0.440, 0.001
90000, 9.582, 0.001
110000, 9.710, 0.001 |
130000, 0.840, 0. :::
150000, 9.951, 9. ,.
170000, 1.077, 0.
190000, 1.227, 0.
210000, 1.377, 0.
230000, 1.499, 0.
250000, 1.618, 0.
270000, 1.738, 0.
290000, 1.892, 0.
AT K S A I/ 2] = /2023 310000, 2.055, Q.




Python/VilliR: 45547 i%

MRS s ‘

( uoyifg)

) XERA), BHAUR(ER, B

, BRELAH?

AT KF i HEAFE/ X = 4/2023

AT

» PythonBRZAERIER. REAFIRIER, TLAREARAYREEH
print a, TRERBLARETARALAATENFH BN X
del a, T UA4K%%t%a; del 1st[2],
len(a), £E3 &, TARXRFEREBTENOSLENIK
int(a),float(a), #HBHLERK. FEK. FHPAHAERKRFELEK
a+b, TRLBE KK fe, F EHFe, FHFWEE, TR ERE
a*b, TABHERKRM, FERXRMR, FHEZL, XNV EL

aJlA

STAMG I A E 3N TE

HRBEMXHIR

XA FEES [FARERS, RRBAFPFARANE, 2744 2BR%R?
thde KA LT —/~%Color, Fprint—A-Colorst £ 4 A A

? #/NColorst £ 64k

Z



Python/VilliR: 45547 i%

. PythoniBfft7T—LuissrrssE, RiLEE X MhaEmnE FRMNEER. &

= class Color(object):
%&*ﬂ?gfd’ﬁﬁ def __init_ (self, r, g, b):
self.value= (r, g, b)
it (r, g, b)== (255,0,0):
self.name= "red”
elif (r, g, b)== (0, 255, 0):
self.name= "green”

>>> a= Color(255, @, 0)
>>> b= Color(@, 255, ©)

,
-
e
1
S
g
%
3
>
Q
S
N\~

»>> a elif (r, g, b)== (255, 255, 0):

red self.name= "yellow"

>>> b else: —
green self.name= "N/A" z
>>> a+b def __add_ (self, b): ’.
yellow return Color(self.value[@]+ b.value[0], \

>>> c¢= Color(128, @, 0) self.value[1]+ b.value[1], \

»>2> C self.value[2]+ b.value[2])

Color(128,6,0) def _ str_ (self):

>>> print a, b, ¢
red green Color(128,0,0)
>>> str(c)
"Color(128,0,0)"

AT KFHIMFI>>>

it self.name!l= "N/A":
return self.name
else:
return "Color(%d,%d,%d)" % self.value
__repr__ = str
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Python/VilliR: fRIR

y  PythonEZIMES R 29, BBESEMA
FEhEEREHREIE, FRAmoduletfiR, Python
BERIRIRES
FREE
TROGHEFEEA
BT H SR FHHK
A5 B &7 9
P HF AN
KRGS FA
A # XA %E (csv. ini¥)

B AL
BYEZRRER S
Bt AZ 18] 18 A P 2%
XML £ P& & 227

AT KF i HEAFE/ X = 4/2023

Internet#)#EAHE (emailB it L %)

Interneti# X ® (HTTP,SMTP,POP, %
fServer)

SRR ELAE (FM. BIR)
HIirLiE S

T RATAE T 4L 2

B A P FaETk

FRAIE

BRI R

AT 5 XA
Pythoniz 47 3R 3R 5
Python R g A7 Fn B 4T

5 BARRAE & AR X WAL 3k

Z
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Python/VilliR: fRIR

 RREIXEARRAIIEE, RERERImportiBASARR CHUGESER
Hginclude) - import shelve

- d = shelve.open(filename) # open -- file may get suffix added by low-level
# library
store data at key (overwrites old data if
using an existing key)
retrieve a COPY of data at key (raise KeyError if no
such key)
delete data stored at key (raises KeyError
# if no such key)
flag = d.has_key(key) # true if the key exists
klist = d.keys() # a list of all existing keys (slow!)

d[key] = data

data = d[key]

HoH H HH

del d[key]

# having opened d without writeback=True, you need to code carefully:

temp = d[ "xx'] # extracts the copy
temp.append(5) # mutates the copy
d[ 'xx'] = temp # stores the copy right back, to persist it

# or, d=shelve.open(filename,writeback=True) would let you just code
# d[ 'xx'].append(5) and have it work as expected, BUT it would also
# consume more memory and make the d.close() operation slower.

# close it

AT Kt H AL IR/ 3] & /2023 d.close()

\
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Python/VilliR: fRIR
y ImportiBARTSARIR, BAERSIAN T HIZF=E

import time

time.time()

HFZHZS | HSMRIREIIEE, BRERIRRIRF= RN

import timeit

ﬁ%%ﬁ%ﬁ%‘

N

t= timeit.Timer.timeit(....)

» AJLARfrom ... import ... REESEIRIFLEERS SA SRR

from timeit import Timer
t= Timer(....)
FRZBET R FANINLMFLZRNFTRENE, ZHIRBRATR

( uoyifg)

Z

AT KF i HEAFE/ X = 4/2023
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Python/©MViliR: TRESEN
) pythonfiSHFIRTILGBRESHIARREE

def func(a, b= 0, c= "abc")

func(2)

func(2, 4)

func(2, 4, "xyz")

func(2, c= "xyz"): FPRIGLAFEKRASEE, §E2HKABHHHKLH LA

E K FHEMF R/ 2] = %/2023
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Python/VilliR: IDLEAY{HF

%’é y IDLEfHEZEZiEShell, FlRiE2Editor

) PmIEERMmEpythoniEX#, BAIRuUn->Run ModulesRiE T

,\3 S m— — 2l T o

% y IBITHNGSRESERERERiEShel|BE, RARILAZEShel| EEmAELZENG
N EeoTmiBETARS

3

S

Z

AT KF i HEAFE/ X = 4/2023



